



ANNEX II SOL·LICITUDS CONCEDIDES

	Data registre	Registre	NIF/CIF/NIE	Expedient	Importe concedit
1	25/06/2021	2021011178	36076915N	4018/2021	2.000,00 €
2	25/06/2021	2021011219	23935192N	4019/2021	2.000,00 €
3	25/06/2021	2021011250	44863452C	4020/2021	2.000,00 €
4	28/06/2021	2021011309	X1488266M	4022/2021	2.000,00 €
5	28/06/2021	2021011318	B98955701	4024/2021	2.000,00 €
6	29/06/2021	2021011401	48308738K	4026/2021	2.200,00 €
7	29/06/2021	2021011424	85087158S	4027/2021	2.000,00 €
8	29/06/2021	2021011431	45798968B	4028/2021	2.200,00 €
9	29/06/2021	2021011433	73775845X	4029/2021	2.000,00 €
10	30/06/2021	2021011520	X4595191K	4030/2021	2.200,00 €
11	01/07/2021	2021011534	B98340003	4031/2021	2.000,00 €
12	01/07/2021	2021011597	Y5491767W	4032/2021	2.000,00 €
13	02/07/2021	2021011647	48387389N	4034/2021	2.200,00 €
14	02/07/2021	2021011667	48307080L	4035/2021	2.000,00 €
15	02/07/2021	2021011687	73550320T	4036/2021	2.000,00 €
16	05/07/2021	2021011702	29221497C	4037/2021	2.000,00 €
17	05/07/2021	2021011696	Y3639178V	4038/2021	2.600,00 €
18	05/07/2021	2021011700	27508270V	4039/2021	2.200,00 €
19	05/07/2021	2021011705	B98179377	4040/2021	2.000,00 €
20	05/07/2021	2021011697	48438286X	4041/2021	2.000,00 €



21	05/07/2021	2021011704	48411830G	4042/2021	2.000,00 €
22	05/07/2021	2021011695	B98655400	4043/2021	2.600,00 €
23	05/07/2021	2021011724	22577320Z	4044/2021	2.000,00 €
24	05/07/2021	2021011730	48438793B	4045/2021	2.000,00 €
25	05/07/2021	2021011742	X5231564F	4049/2021	2.800,00 €
26	05/07/2021	2021011747	52739869H	4051/2021	2.000,00 €
27	05/07/2021	2021011749	48581198T	4052/2021	2.200,00 €
28	05/07/2021	2021011762	25389454F	4054/2021	2.600,00 €
29	06/07/2021	2021011838	48311034V	4056/2021	2.000,00 €
30	06/07/2021	2021011840	E98976707	4057/2021	2.600,00 €
31	07/07/2021	2021011945	28850806C	4058/2021	2.000,00 €
32	07/07/2021	2021011946	52720708Q	4059/2021	2.000,00 €
33	07/07/2021	2021012005	48709927K	4061/2021	2.200,00 €
34	07/07/2021	2021012020	53754034K	4065/2021	2.000,00 €
35	08/07/2021	2021012059	52684742E	4067/2021	2.000,00 €
36	08/07/2021	2021012090	73644397F	4068/2021	2.000,00 €
37	08/07/2021	2021012091	73575007P	4069/2021	2.000,00 €
38	08/07/2021	2021012094	70978611J	4070/2021	2.000,00 €
39	08/07/2021	2021012098	48408158N	4071/2021	2.000,00 €
40	08/07/2021	2021012102	73568068S	4072/2021	2.000,00 €
41	08/07/2021	2021012103	73763369T	4073/2021	2.000,00 €
42	09/07/2021	2021012173	E97086177	4074/2021	2.000,00 €



43	09/07/2021	2021012181	52654601B	4075/2021	2.200,00 €
44	12/07/2021	2021012278	25420524G	4207/2021	2.000,00 €
45	12/07/2021	2021012280	24398841G	4208/2021	2.000,00 €
46	12/07/2021	2021012286	24331799F	4209/2021	2.000,00 €
47	12/07/2021	2021012298	79160050F	4222/2021	2.000,00 €
48	13/07/2021	2021012331	52722773B	4224/2021	2.000,00 €
49	13/07/2021	2021012362	44528509A	4225/2021	2.400,00 €
50	13/07/2021	2021012365	12244118E	4227/2021	2.400,00 €
51	13/07/2021	2021012372	24388497X	4228/2021	2.000,00 €
52	13/07/2021	2021012397	48411225C	4229/2021	2.000,00 €
53	13/07/2021	2021012402	24339798W	4231/2021	2.000,00 €
54	13/07/2021	2021012404	35115256Y	4232/2021	2.000,00 €
55	13/07/2021	2021012411	25399351Z	4233/2021	2.800,00 €
56	14/07/2021	2021012428	52734274N	4234/2021	2.000,00 €
57	14/07/2021	2021012432	48437194E	4235/2021	2.000,00 €
58	14/07/2021	2021012441	52736094S	4237/2021	2.000,00 €
59	14/07/2021	2021012445	75117598N	4238/2021	2.000,00 €
60	14/07/2021	2021012449	19836173F	4239/2021	2.000,00 €
61	14/07/2021	2021012464	73548760G	4240/2021	2.000,00 €
62	14/07/2021	2021012465	B98467541	4241/2021	2.600,00 €
63	14/07/2021	2021012467	26744820Y	4243/2021	2.000,00 €
64	14/07/2021	2021012472	48313401S	4246/2021	2.200,00 €



**La Pobla
de Vallbona**
Ajuntament

65	14/07/2021	2021012474	04618378R	4249/2021	2.000,00 €
66	14/07/2021	2021012484	48405526W	4250/2021	2.200,00 €
67	15/07/2021	2021012519	24367815M	5193/2021	2.200,00 €
TOTAL					141.600,00